Divide by Powers of Ten (H)

Find each quotient.

71 +10' = 28 +1073=
79 +~10° = 29 ~101 =
84 - 1073 = 79 = 1072 =
12 +10"1= 35 +-10"1=
58 =~ 101 = 19 =102 =
79 +~10° = 82 +1073=
15 =103 = 38 -1073 =
58 + 10% = 5+ 10%=
87 ~10% = 85 + 10° =
60 + 107 = 37 +10° =
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Divide by Powers of Ten (H) Answers

71+10'=7.1

79 +10°=79

84 + 107% = 84,000

12+107'=120

58 +10'=5.8

79 +10° =0.079

15+ 10°=0.015

58 - 102 =0.58

87 + 10% = 0.87

60 +~ 1072 = 6,000

Find each quotient.

28 +107% = 28,000

29 +10'=29

79 + 1072 = 7,900

35 +10"1=350

19 +1072=1,900

82 + 107> =82,000

38 + 107> = 38,000

5=+ 10%=0.05

85 +~ 10° =85

37 +10° =37

Math-Drills.Com




